Why you need two pulsers
at different depths ...
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Sqrt(AX1p2+AY1p2+AZ1p2) - Sqrt(AX2p2+AY2p2+AZQP2)

00 = == mmmm + (01 - 02)
(c/n)
SQri(AX,,>+Ay > +AZ,?) - sqrt(AXs,>+Ays,>+Az:,%)
013 = mmmmmm + (01 - 03)
(c/n)

... or ... grouped differently as ...

Sqrt(AX1p2+AY1p2+AZ 1p2) Sqrt(AX2p2+AYQp2+AZQP2)

... and likewise for 013
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sqrt(Ax,>+Ay > +Az,%) SQrt(AXs, 2+ Ay, 2+Az:,2)

O1p = =mmmmmmmmmmmm oo R T — +35,
(c/n) (c/n)
sqQri(Ax,,>+Ay > +Az,?) SQrt(Axs, 2+ Ays,2+Az:,2)
S B .
(c/n) (c/n)

... now shift an antenna up by 10m ...
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Pulser
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Sqrt(AXIPQ'—I_Ay 1 p2+ [AZ lp' 1 O . O] 2) Sqrt(AX2p2+Ay2p2+A22p2)

012 = mmmmmmmmmme e S — + 8
(c/n) (c/n)
Sqrt(AX1p2+Ay1p2+[AZ]p' 1 O 0]2) Sqrt(AX3p2+Ay3p2+Az3p2)
O13 = =-mmmmmmmmme oo S — + 83
(c/n) (c/n)

sqrt(Ax1p>+Ay1p2t [Az1p)?) 10.0  sqrt(Axop?+Ay2p>+Azop?)
012 = =mmmmmmmmmm e + [01- ------ | + 02
(c/n) (c/n) (c/n)
sqri(Axip*+Ay1p>t [Az1p]?) 10.0 sqri(Ax3p>+Ay3p’+Az3p%)
O i + [01- ------ ] = mm e + 03
(c/n) (c/n) (c/n)
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SO cannot separate Az from ot ever ...
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